H

olo olo <9
ol ol 29
N N
u,}ﬂ 0,00
— Nappali
keramia
a= 26,97 m?

E

Gard.

keramia |

a=1,98 m?2

DD

120
150

120
150

240
120

laminalt parketta

210

o oo
'e] N0
-— — |~
Sziil6i halé
laminalt parketta
a=12,11m?
LO
N~
tirdé
kerédmia
= 3,161
90 90
w
adgrie
= 335 m?
o|o olo o
[=2RTe] [=2RYe]
-~ — |~
100 100
240 240
Kam
keramia
a=2,10 m2

100
240

oo oo
o< o<
~ N N
0,00 Fvu
Nappali —
keramia
a= 26,97 m2
75 Gard.
j— keramia
a= 1,98 m2

120

150

120
150

2

D0

olo o|lo 9

ol o 2

-|N N
0,00
Nappali
keramia
a= 26,97 m?2

120
150

120
150

240

150

Sziiléi halo

laminalt parketta

o
N
90 a=12,11m?
210
=
Fiird

"
100
210
amra
keramia
a=2,10 m?

120
150

90 90

oo olo

S|B S|o
100 100
240 240

Sziiléi halé
laminalt parketta
a=12,11m?

210

el
I~

tirdé

keramia

Kam
keramia
a=2,10 m?

100
240
100
240

100
240

0,00

Nappali
keramia
a= 26,97 m?

YU

D0

oo olo <9

ol o 2

N N T
0,00
Nappali
keramia
a= 26,97 m2

120

150
120
150
120

120
150

240

120
150

120
150

Sziiléi halo

laminalt parketta

a=12,11m?

210

e
I~

tird6é
kerédmia
= 3,162

100
150

Sziil6i halo
laminalt parketta
90 a=12,11m?
210
=
Fiird
kerdmia
3,16
ya q o0
C
rarhia
a= 1,86 m:
'\‘ oo
o0
100 100
210 240 240
71 amra
keramia
a=2,10 m2

*

Kam
keramia
a=2,10 m2

100
240

100
240

100
240

0,00

Nappali
keramia
a= 26,97 m?2

Gard.
keramia
a=1,98 m?2

2

120

150
120
150




